ENKFR BEMKELRVKERBBOS LEFKIKS

R#i

T

RE

RE

W KEREESES
202545H 16 6:00I87E
M.kl \‘\ E ﬁ E
1617\ ))
= - ¥ EPKE YIE-KEADEFKETT,
O BAESHENEZS X% BPKEI 108 16H XY IERKEIDET/KETT
% BAERFABEIHTIBERKEOAEDL,
- SR EI) Bk
AT B (R Bk b5 Ok R A ok (4 T k) (DT 5 MRk E.
(A IE, Sk ERFIRE E1000 200 . MIEIKENCOTH hIFL. 60U O ITREESTZUET, BrkEEiTkiunakbnnE T, ) - N
EEEEHAK NI
C A D Bk /
S ETIAEE (2 ER NS TSRS AT Bk D) DT 5 BRIk E, 8.5.L(m)
(7 E, SRk RIS 21000 2000 . I/ITETREHB0TH ML, 6000 IFak LIV E T, (kBT IpkihakbanET,)) 0.30 ~.Lim
¥ BREICLYRABSREECANEETLBES . BAEXI00%ELYET, 000 |
-030 |
==
(8 & % 4)
100%
79%
80%
60% |
' 75%
40%
0%
RE EE
100%
80%
60% | = I —
71% 79% = g U 5 AL
40%
20% HEE) || e1E 100%
0% 80%
R_E EE N #
F M 60%
A )l
20%
K4 HEY 0%
R_E ELE
(BREREAKP) *ILYLORE
- KEI, @EK
Jl| £ XA E831,000Fm3
. (St BLLET
7 k= 5
(5 8 % 4! °
— 100%
100% 80%
80% 60% |
60% | 40%
40% 20%
20% 0%
BE ¥
0%
_E EE
HEHE AN
100% 100% 100%
80% F 80% 80%
60% | 60% 60%
40% 40% a0% | 12%
20% 20% 20%
0% 0% 0%

T




S - S = P K = 9\\ ~ *ﬁ % = ==y
~ a « —_—
etk -k RO = -Br72K= - WAy \Y=X0D) === =
[ 2025458168 e600m%|
et >
(B DA L]
JKBLC%2) Br K 2(%12) i E(X%2) HHEGREILB:3A~58)(%34,6) fEGBE35 A :3A~5H8) (3¢5,6)
n TFR L N
A - - o= | A S | s REFEIG | &2 WHEFT | RISA | F45A8 e | FERH | WETEE| RISA | 4
SL8 | gk | ke | gk | PR | FE | BAR | SLRA ) FLEGE | SESEO|GGaxa, | FEE |\ Telw | meno | Amme | REPE | met | Vs gk | TR
5 BF/k=E BP/kE | FHEESRE = = WA= 20EE3Y . = GBE34H)|,. . A=
( ?TtlElm) (Em3) (%) (Em3) (0/) (O/) (m3/ ) (m3/ ) (m3/ ) H) H) (J@f:;’rﬁ) E ~1SE) ==} (mm) (L’EJ£3’7'H) (1@%3’7ﬁ) E ~15E) (mm)
° ° s s s (Bmd) | (2o %) (Fm3) | (Fm3) (mm) ®) (mm)
B L 125.18 2,730 55.5 3,016 61.3 90.5 0.00 18.78 18.8 1,591 2,909 54.7 1,300 1,775 204 358 57.0 72 142
HEFS L 272.85 1,528 80.0 1,685 88.2 90.7 1.64 1.96 0.3 61 365 16.7 18 243 248 335 74.0 89 132
BES L 293.41 1,134 85.3 1,144 86.1 99.1 1.37 3.33 2.0 172 379 45.4 89 300 256 348 73.5 94 134
RS L 279.58 928 73.0 1,086 85.5 85.4 0.56 1.27 0.7 166 269 61.7 17 162 244 363 67.3 80 143
HEMS L 294.55 1,095 71.5 1,203 78.6 91.0 0.90 1.55 0.7 195 448 435 52 300 237 339 69.9 81 134
— A L 141.81 1,902 71.0 1,905 71.1 99.8 0.75 1.10 0.4 77 766 10.1 19 506 191 347 55.0 58 142
BE4 L 186.91 2,833 78.7 2,676 74.3 105.9 4.72 7.58 2.9 775 1,664 46.6 315 1,058 168 299 56.2 45 117
[SHEREKPDOF L]
IKBLC%2) Br K 20%12) i E(X2) HHEGREILA:A~H)(%346) MEGBE3SA:A~A) (3%5,6)
R - - wem | A , w REEIR | oo e | 2T | RI5A | F£A o | FERE | mETEs| RIS | 4
LB | moktr | mke | gk | TE | FE | KE | FLRA | SLHR | BEOEO S Gess, | REEE | TS | mokga | Arme | REFE | 58T | nx | mxaa | TEA
gl Brk= BrkE | FHELEE = = A= S0BE3Y,. = GBE35A) .. . BER=
(*ﬁtlﬁlm) (Em?)) (%) (Em3) (%) (%) (m3/s) (m3/s) (m3/s) ﬁ ) H) (2@%3’7’ﬁ) E ~15 E) == (mm) (ﬁﬁ\?’fﬁ) (Jﬁf3’7’ﬁ) E ~1SE) (mm)
(Am3) (T (%) (mm) (Am3) (mm) (%) (mm)
JNIES L 271.05 2,519 81.2 - - - 0.52 1.05 0.5 124 - - 0 - - - - 91 -
* IRTEN LS LIXRERGEKP D=6, #RET/KEBE 31,000Fm3IZx 3 BErKEEZRRLTULET,
[BZVI LA LDOFKEE: JEH/KEA(10/16 ~ 6/15)15,700Fm3 #sKHA(6/16 ~ 10/15) 14,800Fm3
FKAL (3% 2) MEGBE3YA:38~58) (3%56) Mm=GEE35H:38~58)(3%7.89)
WAL wr | TEmo | RHAE | T an | PRL T | man | FESA Fesg % aimE | T | RETE| MO | Fasn
BSL) ki = GBEIA) | o B A2 | BRGNS GBEIA) | o= A= | ARIGE
) o (e |83 R) |GBE3rB) [ B~158)| 7 = (o |GBE37 B |GBEr B) [ B~15E) [ 7
(mm) %) (mm) mm (mm) %) (mm) mm
EZEM 0.24 0.15 0.09 308 399 77.1 112 155 WA LERE 274 363 75.5 98 154
FEI TRk 253 371 68.2 74 155
X1 EOKER, 108168 KUIERAMORIKE B THELTEYET . SR i 220 | 358 | 640 85 | 150
X2 EKEEENERQ.EKE. ARFYAMOT—4TT. BEEMAMLELB6EDETT. ATk 231 332 69.6 87 142
X3 WSERLAHETOY LMARERARDEE BHLLETT. BRNIFEOK) | 564 331 | 1704 | 242 | 137

¥4 HAIFOMRELBERELLTHAIRIIE TIMRELRAZELDETRLTEYET,

X5 MERFLBHIRETODRIETT.
X6 MRE. NE(EENRO DFERFHEITTRI1E4R LR (75 LEERIR) oD T-4EERALTEYET,
EENREDTFRIMETTR4FEIALUBRNODT-HEFERALTEYET .

X7 HEETHYRIERFZEHTHEENHYFTT
X8 MENTFRIHEFXFEREN DT - IEHALTEYET . (245F/H)
X9 ERNIREE. FATRO L WA AREZFERALTEYES,

(8 EEREEKXKET -4 -2)



BTKE (Fm3)

ﬁmm%7@Aﬁm§®ﬁ<

ot

W

il

B .

~ tt

z=
R

)

2025458 16 H

240,000

210,000

180,000

150,000

120,000

90,000

60,000

30,000

u I22
487
52 51837

L

12
67 680

6 6
106 4]0

191
172,400 X 1

124

03m3(~6/

15)

9 !1 4
10f !2 l!
6808 135

1510182

28
18622@
294

TN

CHLDMEBFIIFMEDHAMI &I
BORALEDTESDTE LIBFIKEE

|

151
5

N

213

|| =2 WNP
LDETIKE I3

0 X 103m?3 8
5~8/15) (

75 LIZ&ZE BRI LRE (H11.4~)
BEREKEL(HL12) Bk ERR

/

FEBRIE/K A
FEFENTLY

19

192

275
307

1DT=. Il
FHA,

5,050 X 103m® g3 450 X

8/16~8/3

) (9/1~1

04 125

172,400 X
(~12/31)

103m3

E

S

'\

_—

1H

2H

3A

47

58

68

7H

8H

9H

10R8

118

12H

w5 LR K E (H11~R5)

m— 475 LR 4 PE K & (H6~R6)
—EKEE (HE) ¥ LREHETKE (LLFH. BERC
—RTETT LREEKE

5K E(HE)5 S LT REKE (LA, BERRC

m— RGETH LEHEKE
BKE (H12) 5 LAFHETKE

—FkBEE

BIKEMH12)TH LEHREKE
mm R7ETSE LY EKE

—R6ETSF LBHETKE

— 7 L\ R EHET K E(H11~R6)

A L 5 - 10 LR R 2 (mm)



BT/K= (Fm3)

[ L - . ] 2025/5/16 6:00

1H 2R 3R 4R 5H 6 A 7R 8H 9H 108 1A 128
'..—.-' '.—ﬁr 0
34443023 | 218822 [ia1 II I54 " 5,36 34 I46 I I35 I 5361917 |
60,000 (51 66" 79 o178 72 90 o 73T 100
106 114 11‘?32 13998 24 134 109 123 118 113
130 169 15 146 170 - 200
227 211 19 ot
49,200Fm3 49,200 Fm3 - 300
50,000 L ' 312
394 - 400
443 500
40,000 |
30,000 |
| EHBERIEKEL(HE) DEFKERIR |
20,000 |
13,800Fm?3
P -
10,000 | \\ 7
<~ [ZBBEREKE(H) OEKERE | T~
0 E | E
— 3 K £ (S44~R6) m E K (HO)EKE BIKEHDRRKE EmmR6FFKE
mmm R7EREKE — BT IK E (S44~R6) —EIKE(HE)RTKE BKE (HNETKE

——R6FHKE —RIFFKE —FIkAEE

A Lih m A= (mm)



BTKE (Fm3)

100
200
300
400
200

= - > r =
[ =] JE % 9 N AT 7]( ==4 EHH {f‘?i } 2025/5/16 6:00
1H 2H 3H 4 A 5H 6 A 7 A 8H 9AH 108 118 128
30,000 ‘.‘._-_\F
50433220 T M3 m' . s |43 I27 I 4842460 |
52 6464°°gy 637 Il | ®60> =75 M7553Mco ° 72 gg
108 19 107 111 11 1 11 112
132 31 73 143 146 L
171|190 165 63
925000 | 203 195 194 223 20
23 i
320 I
20,000 | 19,100Fm3 442 19,100Fm? -
_— \ 15400 ~
15,000 \ // p— f NL—% "~ \~ ~
e —— \ ’ N\
10,000 | \\F\
5000 ?
| BHBERIEKE (H6) DEFKERR |
AN
|%ﬁﬁ§%ﬁmm$mwﬁm%ﬁﬁl
0
— 14K 2 (S45~R6) m E K EE(H6)BE K= BIKEMHS)EKE Emm R6EfEKE
mmm R7E[FKE — 145 B 7K 2 (S45~ R6) — B IKE(HE) BTKE BIKEMHS)ET/KE
— RO FEETIKE —R7EITKE —RKE=E

A L S E(mm)



BTKE (Fm3)

[ E £ ¥4 L B K = B K ] 2025/5/16 6:00

1H 2H 3AH 48 5H 68 78 8H 9H 108 118 128
20,000 -II—.- -I.———* 0
594598 4750I34 64 m‘ 54 II I 3 I‘” I 2 I 5% | 100
53 5 100 100 96[lB7 107" 11,0 W T’ffoa o 8 91 o |81 87,
135 138 51 [142 129 - 200
17 195 183 [159 162 g
209 210
26 - 300
15,000 341 321 - 400
13,300Fm3 13,300Fm3
500
10,000 /
’ \ 6.550F ,
\ , —~——
5000 | \ \\
\ | EEBESIEKE (H2) DEFKERR |
| ZER:BERIEKEL (H8) DEFKEIRT | »
H [ H [
0
T 4% K = (S49~R6) K (HE)FF K E BKEMHSBEK=E R E[EKE
mmm R7EKE — T 14 BT K 8 (S49~ R6) — BKEH2) BFKE — S IKE(HE) BFKE
JBIKEE(HS) BT/KE —R6FETKE — RTEETKE —FKBEE

A L S E(mm)



BTKE (Fm3)

100
200
300
400
200

> r =
[ i B ¥ 4L & K B #H K ] 2025/5/16 6:00
1R 2H 3H 4 A 5H 6 A 7 A 8H 9AH 108 118 12H
20,000 1 L ud | Ll
48604021 I5019I31 66 II_I' 41 3g 5 36 27 5541179 I
637 95 |, 92flos | g7 70 o4 [0 83 87 Im?l 77 73
14950 154 21 136 140 128 134 |
17 154
187 192 17
228 212 240 |
263
15,000 258 |
387 402
12,700 Fm? 12,700 Fm?
\
P“< ~~ 3 i
10,000 — \N\
-V «\<\ 9,000Fm3
\M‘\’\N \r\_ —
—\\
5,000 \.- ~—
T | SHBERIEKEL(H6) DEFKS KR |
| £8BERIEKE(HT) DEFFKERKR |
0 | |
— 4% K = (H4 ~ R6) m E K E(HE)EKE BIKEHNDEKE Em R6EEKE
m R7EEKE — 14 B 7K 2 (H4~ R6) — B K E(HE)ETK & BKE HDEKE
——R6FEKE —R7EFKE —RKEE

A L S E(mm)



BTKE (Fm3)

100
200
300
400
200

< > = =
[ tt >~ ﬂ] /)-l -LA Al 7]( ==} EHJ ﬁ'ﬁ } 2025/5/16 6:00
1H 2H 3H 4 A 5H 6 A 7 A 8H 9AH 108 118 12RH
20,000 ‘I.—.-' ‘..———*
42 357 l2759I30 52 1 p I53 I 4725289 |
60 71
% o 88 109 1ofll’® 1067 11178 N 3 10 105
13 13 4 39 144 i
194 175 169 o 199 185 69 lig2 187
228 218 200 539 22
15,300F m? 291 15,300F v i
15,000 [ 316 —
e —— %—? 351
—
rk /
\N / |
7
10,000 | \ 9,400Fm? /
§~/ \
5000 | \ n = = TTT=T
| ZHIBERIEKEL(R6) DEF/KEKT |
| E4R:BERIEKEL (H12) DEFKERR |
0
— T 34 [% K 2 (H11~R6) K E(H12)EKE SBIKEHI5)EKE R E[FKE
mmm R7EKE — ST PE1ET K 2 (H11~R6) — B IKEH12)EF K= EIKEHIB)ET/KE
— ROEATIKE ——R7EITKE —RKE=E

A L S E(mm)



BTKE (Fm3)

K B B REGBREKEED) | 0596600
58 68 78 8H 98 108 18 128
35,000 - 0
] = [N S§ =
64 49 60 - 100
______ AN DN DA L U e S S R S
30,000 | 157161 120 - 200
31,000Fm¥ ek E®) 298 31,000Fm3 (BEFKEE)
260 248 - 300
/“: 319 400
25,000 L /S ~— 399 7
/ — | 500
20,000 [
17,500Fm? (FIKEE + HILEE) /17,500=Fm5
\v‘“‘\l‘ {r_,-/\._/ [
15000 | 16,600 F Y
10000 | * JI| EF LK, FLREK, BGREERE. /K OELENDLGEZHERTA-ODHERBEKEZERLTOEST  RERE/KBIE, FIKBELZER
’ TEAKLTLET,
5000 |
0

C—ORSE[§/KE = R6F[F/KE = R7TFFKE ROGFATKE —— R6FRTKE RIERTKE FIKBRE ---- BITKBE

A L S E(mm)



BTKE (Fm3)

> . =
[ — E 4 L B K 2 H & ] 2025/5/16 6:00
18 2H 3H 48 5H 6 A 78 8H 9AH 10AR 12R
35,000 1 Ll ‘..*—*
2
34 2822 " 1'% [ 35 59 50 5251 51 | [ll46 3546/ 473654 | 100
41 72 61 1 74 72
95 102 97198 |106 10320 | 19982 N 10 028 119 118,
30000 161 h 190 185 189 141 177 144 - 200
26,800 Fm3 96,800F m? - 300
25,000 | o a - 400
- 500
20000 | . N | £HIBERIEKAL (H14) DEFKEIRT |
>< " >\\
15,000 | \ 13,300 F m3 K/
"] W —
ﬁ % \\\r\ _—
10,000 | \ '\
5000 | e /
> = L Tem ] =IO e
| EHBERIEKE (HO) DBFRERR 1 N <~
0
T 15 K 2(S58 ~R6) m— K F(HE)E K E BIKEHI1DFKE Emm R6EFKE
RS K B — K & (S58~R6) — B KE(HE) BT K 2 BIKEHINEKE
——ROEETKE —RTEEIKE —FAEE

4 L AR E (mm)



BTKE (Fm3)

100
200
300
400
200

—+ S r =
[ = ¥4 L B K = #B K ] 2025/5/16 6:00
1H 2R 3H 4K 5H 6 A 7 A 8H 9AH 10A 1A 12A
50,000 1
4758 93 | 54 8 B2800B5 | oc76 6 4 - 7 50
45,000 116 88 b30 12406 1 1]334 124 34 1324
4 225 22
0,000 249
36,000F m? 36,000Fm?
35,000 T
Nt \
30,000 :
! \ \/_/
25,000 [ 2 BBERIEKE (RS DRKERR | T
20,000 \\ ,
AR 16,000F m? / TR ,
15,000 RN L |
10,000 \ ‘ l ,
5000 [EBBEREKE(H12) DR KERR | ~~ | \ 7
0 |
e EKE(H10~R6) =SB KEHI2DBFKE BKERS)BEKE mmm R6FE[EKE mmm R7EfEKE
— TR E (HI0~RE) =B 7K E(H1 2K B BUKEIBHIAEKE — ——BUKEIRH20)EKE =Bk EIR(H2 1)K S
R54EET7K 2 —— RG£EETKE — RTEETIK B —FIKEE

A L S E(mm)



E E # K I B £ ] 2025/5/16 6:00

JKAEL(B.SL. m)

1H 2H 3A 48 5H 6 A 7H 8H 9H 10A 114 12R
1.5 Y
“ “ 1 I ! !3 . 100
8 3 7 9 65 o, 54 7 i
2111 790 12 58 83 100 103 109
121 10272 "ag "M 124110 fos T il o iy 1afTagias | 1ast3s 1 ?11805 oo
1.0 184 206 156 8o |188 'y 167 19
269 67 - 300
_ g 358 305 - 400
BEREKE(H7) DEKEBKR §
05 | - 500
(B.S.L+0.3m) (B.S.L+0.3m)
0.0 /f/- :
M/ 7 (B.S.L-0.3m) I

" [N | i

oA
(B.S.L.-0.2m) J
-05 | -
-10
/ K -
| E,ﬁ.ﬂilﬁin%ﬁmﬁuime)0)&?7ll<§4ﬂtiﬂ 7T [ EBERIEKE (H14) QFFKERR |
-1.5 I I I
% K £ (H4 ~R6) 50K S (HE)E K= BKEHIDBEKE mE LR EKAEREHNEKE
mm R6EFE [EIKE mmm R7EEKE e 37 2 K 51 (H4-R6) — B IKE(HE) 7K 3L

K EF(H14)7K 6L e B 2 B 2 K AL R EE(HT) 7K 3L ——R64E KL e R7EEKAL
— il Rk iz

kel 49 7 2 (mm)



